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NOMBRETI :

NOMBRE?2 :

TIEMPO MAXIMO : 1 HORA 10 MINUTOS FECHA : Vi 17/11/06

PTOS. :

d
(2) Caleule [ 42

(30 puntos).
Solucion:

1 1 Ay Apz+By  Ai(2?+2244)+(Asz+Bo) (3—2)

3-8 7 (z—2)(x?+2x+4) T x—2 + x?242x+4 T (z—2)(x?+22+4)

=

1= Ay(2® +2x +4) + (Asx + By)(z — 2) =
1= Ale + 2412 +4A; + A2$2 — 2A0x + Box — 2By =
1= (Al + Ag)JZQ + (2A1 — 2A2 + BQ)CL‘ + (4A1 — 2B2) =

A1—|—A2:O:>A1: —AQ
2A1—2A2+B2:0$ —4A2+B2=0$B2=4A2

4AL — 2By =1= — 44y —8Ay=1= — 124y =1 = Ay = —%

A1: —A2:>A1:%

BQZ4A2:>BQZ —14—2

1 4
: “5%1 1 1 1 x+4

oL oy D2 = -
© 3-8 r—2 2242244 12 z—2 12 224-22+4

Ahora
dr 1 f 1 1 z+4
S35 = 12J 729 — 13) e



Para calcular la integral f dx debemos completar cuadrados.

2+2 +4
P’ +2r+4=@*+22+1)+3=(z+1)*+3
Haciendou =z + 1, setienequedu=dryz=u—1

r+4 _ [u—1+4 o u+3 _ U 3
fx2+2x+4dx - f u?+3 du = fu2—|—3du - fu2—|—3du+ fu2—|—3du

du :

Resolvamos f 73

fu;i?)du— 2=u?+3 5 dz=2udu 1f1dz— %ln|z| = %ln|u2+3| = %ln|(x+1)2+3|

Resolvamos f

2+3
— Formula 17 3 U 3 z+1
—=arctg(—) = arctg(——=
[Fsd “rarcty( ) = parctg(*)
Finalmente :
de Lf 1 o f 44 dr =
3-8 12 2 12J 22+22+4 -

1 11 1 3 1
winlz = 2| — 155 In|(z + )2+3|—ﬁ%arctg(%)+c:

1 1 1
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1 1 3 z+1)v/3
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